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Question Number : 1 Question Id : 544734641 Display Question Number : Yes Is Question
Mandatory : No

I ([ |
What 1s the rtank of thematrix |1 1 1| =7
1 W K

1 1 1
1 1 1] 8088 88 doh?
1 1 1

Question Number : 2 Question Id : 544734642 Display Question Number : Yes Is Question
Mandatory : No
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1

3

Options:

8
4
9

W= OO0

T=J819

Question Number : 3 Question Id : 544734643 Display Question Number

2
1 1
0

3

2

2

4 11
o
6 13
4 13
=1. 3
6 12
4 13
=4 3
6 13
4 11
1 13
6 13

Mandatory : No

5 : 1
If w 1s a root of the equation x + — 41 = 0. then | 3
X

i
X4+ —+1 = 0 HEBTIE w 2E DTV | 3
X

Options :

2022 2024
2021 2023
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—

Lo

=i

1+ w
4+ 3w
9+ 6w

1+w
443w
946w
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LEE8

5+ 4w 4+ 302
11 4 90 + 6w?

;) 4w+ mz
5+ 4w + 30’
11 + 9w + 6w?

: Yes Is Question
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Question Number : 4 Question Id : 544734644 Display Question Number : Yes Is Question
Mandatory : No

Letd = [g _15 ] what is f(4) = ? where f(x) = x® — 2x* — 5.

P

fx)=x*—2x>—5 m&cm:,qzlg _15]e_amaf(,4):

Options :

[—50 ?0]
42 36
1.33

~50 70

42 —36
k3

[—50 ?0]

—42 —36
3. ¢

—50 70

—42 36
4. %
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Question Number : 5 Question Id : 544734645 Display Question Number : Yes Is Question
Mandatory : No

1l 3 3 2 1
IfA=|-1 2 0[.B=|1 2 3|thendet(2B'47") =
1 3 3 1 0

|

1 3 3 2 1
A=|-1 2 0|80 B=|1 2 3|wowddet(2B'47")=
1 3 3 10

Options :
i
1.% 6

Question Number : 6 Question Id : 544734646 Display Question Number : Yes Is Question
Mandatory : No

If z € C. then the minimum valueof |z |+ |2z —3 |+ ]z—1 ] 1s
ZEC® |z|+]|22—3|+|z—1] €% Dewd

Options :

’I.«'/2
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Question Number : 7 Question Id : 544734647 Display Question Number : Yes Is Question
Mandatory : No

Ifa,b € R and i = y—1. then the number of ordered pairs of real numbers (a, b) satisfying the

condition (a + bi)® = a — bi is

a,b &0 TR Roafew 2Ba i = V=1 Lawd (a +bi)* = a - bi edher toé (a,b)
gmo:imgv “@o&f}5

Options :

1.333

Question Number : 8 Question Id : 544734648 Display Question Number : Yes Is Question
Mandatory : No
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(sin?I + i c:}sn)a
g 8 —

. I i I
(Slll— —1 CDS—)
8 8

8

Options :

Question Number : 9 Question Id : 544734649 Display Question Number : Yes Is Question

Mandatory : No

i3 3
Ifz% + z+ 1 = 0 where z is a complex number. then (z + é) + (z“ + %) is equal to

43 3
2 3 %086 %o z° +2 + 1 = 0 eoclbyaeod (z +l) + (z“ +i4) Densd
£2 L Z Z

Options:
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Question Number : 10 Question Id : 544734650 Display Question Number : Yes Is Question
Mandatory : No

Ifa, B, y are the roots of the equation x° — 6x* + 11x + 6 = 0. then ¥ «*f + ¥ af is equal to
12— 627 4 11x 4 6 = 0 eosderdd o, B,y w0 2rwrdd. ¥ o2f + T af’ Dewdsd
DATSHG

Options :
80

84

5 % 90

, « —84

Question Number : 11 Question Id : 544734651 Display Question Number : Yes Is Question
Mandatory : No

aB 53 V3
= + =
19-4a " 19-48 ' 19-4y

If a, B, y are roots of the equation x° + 4x — 19 = 0. Then the value of

a3 53 Va
, 4 : 2y =
19-4a  19-4f 19-4y

44— 19 = 0 & o reren o, f,7 o

Options:
0
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Question Number : 12 Question Id : 544734652 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = x* = 2x® + 3x% — ax + b is divided by x — 1 and x + 1. the remainders are 5 and

19 respectively. If f(x) 1s divided by x — 2. the remainder is

f) =x* =20 4307 —ax + b D&PFI) 1~ 1, 1+ 1 08 ghochi A6 Baren
SER 5, 19 0008 f(x) A x — 2 § erhodmr Sidy 3o od?

Options:
8

1. %

3. v 10

4 % 12

Question Number : 13 Question Id : 544734653 Display Question Number : Yes Is Question
Mandatory : No

2

. x=bhx m=1 , ,

Let a, b, ¢ be positive real numbers. If S has two roots which are numerically
ax—c n

equal but opposite in sign. then the value of ‘m’ is

Pobx _ m-1
b, @ 63 T3 Roaied. —— = —— #8h¢tm ot Soreren D) oen €BA

ax—c m+1

R0aT{) Sor™ DATIE ‘m’ Lo
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Options :
1.% €
1
2.% €
a+b
3 i ﬂ_b
a—>b
4. < a+ b

Question Number : 14 Question Id : 544734654 Display Question Number : Yes Is Question
Mandatory : No

If a set A has m elements and set B has n elements and the number of mjections from 4 to B is
2520. Then m 1s equal to

A, B 93 Hochones” SENT m,n Srosen &) . 4 Aoc B % v 8 Ddalre
R0 2520 9008 m Qe dodh?

Options :
1. % -
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Question Number : 15 Question Id : 544734655 Display Question Number : Yes Is Question
Mandatory : No

The number of ways i which 6 men and 5 women can dine at a round table, if no two women
ate to sit together is

BEG e 9898 TDOT 2.8 (& LY EOUT 6 08 YLLPL 5 A Yo Iy
D000 §PE\0GSEN
Options :

- = |
1_~;/{:"X‘)'

, % 30

3 % 51x4!

4 % TExST

Question Number : 16 Question Id : 544734656 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can the letters of the word MAXIMA be arranged such that all vowels are

together and all constants are together?

MAXIMA 3 263008°) 05620050, 0o 28 §o), e 28 $0 S0 I
D200 9200y

Options :

1.v 18

> % 30
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36
3. %

4w 42

Question Number : 17 Question Id : 544734657 Display Question Number : Yes Is Question
Mandatory : No

X3 B £ D

. . - = A+ + + then 4 =
(2x—1)(x+2)x—3) 2x—1 x+2 x-3

If

x B C D

— . = A+
2x—1)x+2)x—3) 2x—1 x+2 x-3

Options:

27
4. % 25

Question Number : 18 Question Id : 544734658 Display Question Number : Yes Is Question
Mandatory : No

o . 4 . . 8
5111—fT + 5111—}T + 5111—?r + sm—?T =
H 5 5 5

AP EAPCET 2021



AP EAPCET 2021

Options :

1.¢ 0

Question Number : 19 Question Id : 544734659 Display Question Number : Yes Is Question
Mandatory : No

1 1 1
If .x’cesﬂzvms(ﬁ-}z—n):zcgs(8+4—ﬂ)tlle11—-[——+—=
‘ 3 3 ¥ @ -
1 1 1
J:[‘DSQ=’}’CGS(3—I—E):zcos(5+4—ﬁ)t‘}ﬂﬂé—+_+_=
: 3 3 TR
Options :
1. % 1
2. % 2
3.¢ .
4. % 3

Question Number : 20 Question Id : 544734660 Display Question Number : Yes Is Question
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Mandatory : No

f0<0<2m0<a< 2mand sec®® A + cosec?™® @ = 2 then the value of

05?00 9 + 5in20% g =

0<0<2m.0<a<2mesec?® 4+ cosec?8 ¢ = 2 wond c0s2920 9 4 sin?22 ¢ =

Options :

Question Number : 21 Question Id : 544734661 Display Question Number : Yes Is Question
Mandatory : No

If sin (5}; + %) = 0. then ‘x’ 1s equal to

T

sin (S:r +—) = 0 200 ‘x” Dewsd
4
Options:

-T |, w _
E‘I‘?ﬂ (n € z)

T T :
—+—nnez
, % 20 5
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—1T T
— 4+ —n ez
3 % 5 5

—7T T
— 4+ —n ez
Lo 20 5

Question Number : 22 Question Id : 544734662 Display Question Number : Yes Is Question
Mandatory : No

R | ] N ) —
H 8 =2Tan 1§ +2Tan lg + Tan 17 and tan—=m + +/n where m and n are

NS . m+n
positive integers such that m < n then (m™ +n™)""" =

s % o s & g — —
@ = 2Tan 1E+ 2 Tan 1€_|_ Tan 1? 080 tanE =ym+yn, m<n a0

(m" + a™m)™" =

Options :
1. % 16

L5
25

4 % 36

Question Number : 23 Question Id : 544734663 Display Question Number : Yes Is Question
Mandatory : No
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For what values of x. the following identity is valid & holds? tanh™!(x) = %]{}ge ( % )
—§ _ 1 14 £

tanh™(x) = 7 log, ( 1 ) 8odomian x avog, O s adpdvod

Options :

1 % (—o0, o0)

4. v (=1,1)

Question Number : 24 Question Id : 544734664 Display Question Number : Yes Is Question
Mandatory : No

If the angles of a triangle are i the ration 1 ¢ 2 : 3. the corresponding sides are i the ratio
28 Gadnd’ Jrdsmry A8 11213 wond. TS DT S0l ZDRAVY A3

Options :

1% 2:4/3:1

5w 1:4/3:2
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Question Number : 25 Question Id : 544734665 Display Question Number : Yes Is Question
Mandatory : No

If in a triangle ABC. s(s — a) = (s — b)(s — ¢). then

Ao ABC &° s(s —a) = (s — b)(s — c) eond

Options :
T
LA =
1. % 4
T
L ——
2. % 3
T
PLar: B =
3.¢ =
T
2 =
g ]
4, % =

Question Number : 26 Question Id : 544734666 Display Question Number : Yes Is Question
Mandatory : No

: . Ty r : :
If in a triangle ( = —1) ( — = ) = 2, then the triangle 1s
2 3

aﬁ@ma&;ﬁné‘( —2)( —TI)ZZEOJJ@U@@-?&;&J:

Iz T3

Options :

Right angled triangle
P LoedS s HZORAW
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Equlateral triangle
RIDVETEIN 3230292000

ZB = 60°

L= 45"

Question Number : 27 Question Id : 544734667 Display Question Number : Yes Is Question
Mandatory : No

Let 1 and v be two vectors. Then | u— v | = | [u| - |v| |if and only if

i 0005 v e Toth AGIW |u—v| = |u] - |v] | RS B3 DS QDA 26

Options :

oy lul =1l

u and v have the same direction
u <0030 v %) L8 OF Gotod

u and v have the opposite direction
1 0ol v L ;55@6&: &2 GotLod

=1V

Question Number : 28 Question Id : 544734668 Display Question Number : Yes Is Question
Mandatory : No
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—_ —_—

In A OAC. if B is the midpoint of side AC and 0A =@, OB

0AC Seonsns’ AC 3% 06| Doto) B 208010 0A =, 0B =b 00 0C =

Options :

1 2b —a

5 % b —2a
a—2b

3 %

g, » B

Question Number : 29 Question Id : 544734669 Display Question Number : Yes Is Question
Mandatory : No

Let ABCDEF be a regular hexagon with the vertices 4,B,C, D, E, F counterclockwise. Then

the vector AB + BC is equal/parallel to

AB,C,D,EF 3ganed pii686" D6\8 s aoya ABCDEF wond, AB + BC %68
DArRAD B DAredtAD eaby W63 & §0b T’ D67

Options :

| % BC +CD

, « CD+DE
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FE + ED

Question Number : 30 Question Id : 544734670 Display Question Number : Yes Is Question
Mandatory : No

If 351 +14) —77k. 21 +7) +5kand51 + 2] + Ak are coplanar. then A =
357 +14] 77k, 21 +7] +5k 20008057 +27 + 1k 260 28doirgs 1 =

Options:
1 % 11

Question Number : 31 Question Id : 544734671 Display Question Number : Yes Is Question
Mandatory : No

If @,b,7,d are vectors in which | d—l =land givena + bic=sd b 474d =7,
@.d =4, then s is equal to

@,h,0,d wbsws’ |d |= 12600 @ +b +T=sd.b+c+d =a.a.d =40
AN s’ Jew3

Options :

1.¢ 7
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Question Number : 32 Question Id : 544734672 Display Question Number : Yes Is Question
Mandatory : No

Let x € R and log, x > 0. Then the vectors A = (2,log, x,s). B = (log; x, s, log, x)
include an acute angle if

X € R 3080 log, ¥ > 0 eow. 4 = (2,log, x,s) 208am B = (log, x, 5, log, ¥) © 206
0 §0dnes,

Options :
1% s=>1
5> =]
3 % 5=—=1
4 % $<-—1

Question Number : 33 Question Id : 544734673 Display Question Number : Yes Is Question
Mandatory : No
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A ray of light passing through the point A(1, 2,3) strikes the plane x + y+ z =12 at B and on
reflection it passes through C(3,5,9). then OB =

A(1,2,3) Doty oot ko $0mam ¥ +y +2 = 12 8erD) B 36 Tdod B0k &8
803 DO (3,5,9) Docioed) ot IS i 0B =

Options :

| % V420
, % V380
5 v VAIO

4 % V390

Question Number : 34 Question Id : 544734674 Display Question Number : Yes Is Question

Mandatory : No

Which of the following data has mimimum variance?
& o0& STz’ B3 SR DA GotLodd?

Options :

| » H2BASD

, u LL2Z/30

s x 1.1,2,3,5

4 x LEZUZS
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Question Number : 35 Question Id : 544734675 Display Question Number : Yes Is Question
Mandatory : No

For the set 4 = { x4, %5, X3, X4, Xz } the variance 1s 4 and the mean 1s 2. For the set B =

{ 1,2, V3, V4, V5 } the variance is 5 and the mean is 4. Then the variance of 4 U B is

A = {.\’1,.\’.'2,)(3,.]('4,.):5 } lﬁ?lﬁ?aé D@a@ 4 @oﬁm(ﬁémm} 2 m&m B = {;‘L?ljyz,yg,}h,}rg }
$ZoT5 DS 5, Wosa[0 4 BaNd, AU B goTS B

Options :

1.% 6

Question Number : 36 Question Id : 544734676 Display Question Number : Yes Is Question
Mandatory : No

. 1 2 2
Let A and B be two events with P(4) = o P(A/B) = 7 and P(B) = o Then the value
P(B/A) is

1 2 , 2
A 20Baw B &0 ot owden. P(4) ==, P(4/B) = — obav P(B) =~ eowd
P(B/4) dewd

Options:
1

1.%
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Question Number : 37 Question Id : 544734677 Display Question Number : Yes Is Question
Mandatory : No

Two urns identical in appearance contain respectively 3 green and 2 black balls and 2 green

and 5 black balls. One vrn 1s selected at random and a ball 1s drawn from 1t. The probability
that 1t 15 black 15

SrEerds FEPIANT God Boty Fded” Hdwrr 3 B0y, 2R 0dakw 2
LSy, 5 HRRY LA &T7) 0. & Botd JFEVRICL) AP BNEINM w8 W
DR0) ) BotdR00l 28 Wod 3R BB Y Wod THPIS VorPd(d

Options :
39

1.v 7
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4.33 .l"ﬂ

Question Number : 38 Question Id : 544734678 Display Question Number : Yes Is Question
Mandatory : No

Two integers are drawn at random from the set {5, 6, ... ..., 35}. What is the probability that
their difference is odd?

{5,6, ... ..., 35} 93 RS Aot Botd YT oS00 amﬁaas:@n)m, T8 e
P08 g RoEr (0 Joth?

Options :
15

| % 62

15
31

16

a.v 31

Question Number : 39 Question Id : 544734679 Display Question Number : Yes Is Question
Mandatory : No
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The mean and variance of a binomial distribution are 5 and 4 respectively. Then what 1s
Pl¥=i=1

w8 B0 HEAGERAY 20630800 080w QB QAT 5 80k 4 e wowd, P(X =1)
DLV doch?

Options:
4_24

1\;523

424

524

523

4 % 524

Question Number : 40 Question Id : 544734680 Display Question Number : Yes Is Question

Mandatory : No

If X 13 a poisson variable such that 3P(X = 4) :% P(X =2)+ P(X = 0) then the mean of

Xis

X 28 Fronard oo doiw 3P(X =4) = % P(X =2) +P(X = 0) 0y X @08
:.l)qﬁés.‘z};ﬁw

Options :

1% 1
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Question Number : 41 Question Id : 544734681 Display Question Number : Yes Is Question
Mandatory : No

The sum of the squares of the distances of a moving point from 2 fixed points 4(a, 0)and
B(—a,0) is equal to a constant 2¢?, then the equation of its locus is

Ala,0) 208030 (—a,0) Bocd ?gdﬁod};@)v Aot w8 oD v Arow ST
g0 2c? edbier Gofd B Hodne REEHRAN

Options :

Question Number : 42 Question Id : 544734682 Display Question Number : Yes Is Question
Mandatory : No
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The transformed equation 3x? + 3y? + 2xy = 2. when the coordinate axes are rotated
through an angle 45° 1s

OFOAD 45° FB0r0 BOEHD T{T° D6V AT 5% aagé I +3y 2y =2
qig), ArBR EPdAY

Options :
1. ) _}:2 —!_.2-}'2 - 1

) @ 2x2+y?=1

3 r+yi=1

4 % R =1

Question Number : 43 Question Id : 544734683 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a straight line which passes through the point (—1, —1) and makes an

angle 150° with positive direction of x-axis.

Y-8 6% B3 150° Eo S, (~1,—1) Dothdiyw (ot T RE¢ED DALCEAD:

Options :

1. % V3x+y=1
, v V3y+x+(1++3)=0

3 % Xt V3y+(¥3—-1)=0

4 % x+y=0
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Question Number : 44 Question Id : 544734684 Display Question Number : Yes Is Question
Mandatory : No

The ratio in which the line joining points A (—1,—1) and B (2, 1) divides the line joining
C(3,4)and D (1,2)

A(=1,-1) 2080t B (2, 1) Docrywi ¢D2 w6wde C(3,4) S0datw D (1,2)
Doty $B2 p6eB D Wgy8s" Daizeri?

Options :

7 : 5 Internally
715 e9od0olr

7 + 5 Externally
715 erdrforr

7 + 11 Internally
7111 evsoddGolT

7 + 11 Extemnally

4 % 711 e.?::“éor'.r“

Question Number : 45 Question Id : 544734685 Display Question Number : Yes Is Question
Mandatory : No

The lines (a + 2b)x + (a — 3b)y = a — b for different values of @ and b pass through the
fixed point whose coordinates are

a 300050 b AR e (a+2b)x + (a - 3b)y = a — b Rrddodd Spev Tod ?gd
Dot

AP EAPCET 2021
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Options :

(%)

Question Number : 46 Question Id : 544734686 Display Question Number : Yes Is Question
Mandatory : No

If (a, f) 1s the mage of the point (3, —4) with respect to the line 4x — y — 1 = 0. then the

valueof f —a =
4y —y —1 =0 20¥0 Cﬁag‘”?g (3,-4) o), 2dAoww («, f) Bond, f ~a =

Options :
—-31

| % 17

—107
17

31
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Question Number : 47 Question Id : 544734687 Display Question Number : Yes Is Question
Mandatory : No

If h? = ab. then the slopes of lines represented by ax? — 2hxy + by? = 0 would be in the

1atio

h? = ab wd, ax® — 2hvy + by” = 0 RoeBarabor)w Ardetd A6V S dwg)
TR A

Options :
1 % ; S

Question Number : 48 Question Id : 544734688 Display Question Number : Yes Is Question
Mandatory : No

If ax® + 6xy + by? — 10x + 10y — 6 = 0 represents a pair of perpendicular lines then the
value of |a| equals
ax® + 6xy + by? — 10x + 10y — 6 = 0 60 28 Vot Garabormyd) ety al

00D

Options :
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Question Number : 49 Question Id : 544734689 Display Question Number : Yes Is Question
Mandatory : No

A chord through the point (1, —2) cuts the curve 3x*—y? — 2x + 4y =0 at Pand Q. If PQ
subtends an angle ‘6" at the origin. then 6 equals

(1,-2) Doty Mo Fad 28 & 3~y —2x+4y=0 957 P udosn @ Decdpo
96 DoGotdAB. PO 27§ r0Dod) ¢ B Endn 0" wand, § Jed

Options :
1. % 60°
5 % 15°

3 % 75°

4.v 90°

Question Number : 50 Question Id : 544734690 Display Question Number : Yes Is Question
Mandatory : No
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If p, . p, denote the lengths of perpendiculars from (2, 3) onto the lines given by 15x% +
31xy + 14y? = 0. and if p; > p;. then pf + % —p3 +%:

(2,3) Dotiaa) A00D 15v2 + 3Ly + 14y? = 0 REWBarasvm) I DD LoRETT0 P .
Pz &0 oy 200w py > p, OB, pf +— —pk + = =

Options :

1. % —2

Question Number : 51 Question Id : 544734691 Display Question Number : Yes Is Question
Mandatory : No

The line ax + by + ¢ = 0 is normal to the circle x2 + y2 + 2gx + 2fy +d = 0if

4y 4290 +2fy+d =035z ax + by + ¢ = 0 82 w8 @dwoe) G 00D
TR

Options :

1% ag+bf+c=0

s wag+bf—c=0
3 % ﬁg_bf‘l_lf:{}

4% ag—bf —c=0
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Question Number : 52 Question Id : 544734692 Display Question Number : Yes Is Question
Mandatory : No

The radius of a circle whose center 1s (2, 1) and one of the chords 15 a diameter of the circle
X4yl -2—6y+6=0,is units.

(2,1) D Bogorr &BA, x* +y* — 21— 6y +6 = 0 Hyd5m awE), 28 T w8 & T
(0 982 aﬂéﬁgm O D.
Options:

1.¢ 3

Question Number : 53 Question Id : 544734693 Display Question Number : Yes Is Question
Mandatory : No

The angle between the two tangents drawn from origin to the circle x2 + y2 — 14x + 2y +25=10

13

Soredotoi) Aol ¥ +y? - 14x + 2y +25 = 0 3,578 A 2y6Baw 24 E'ras

Options :
1. % 0

5w 45°
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5 o 90°

4, % 60°

Question Number : 54 Question Id : 544734694 Display Question Number : Yes Is Question
Mandatory : No

If (4,7) and (=2, —1) are ends of a diameter of a circle which intersects X-axis at A and B.

then AR 1s equal to

(4,7) 208050 (-2, -1) DodoHwa 82 e voksw TR (10 28 B0 X 0T
A baiw Be p‘bcg DOCR @@Dm AB =

Options :

1. % D

Question Number : 55 Question Id : 544734695 Display Question Number : Yes Is Question
Mandatory : No
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If L represents the radical axis of circles x% + y2 —4x — 6y + 5= 0 and x? + y2 — 2x -
4y —1 =0, and L, represents the radical axis of x* + y* + 2x + 2y — 7= O and x* + y* +
x+y+9=0.then

4y —dx—6y+5=0.x2 +y% - 20— 4y — 1 = 0 oo Qarerdaw L; 2dowo
Ay 2242y -7=0,22+y? +x+y 19 =0 30 Lrergaw L, wond,
D

Options:

Ly 1s parallel to L,

_— Li. L, &0 2080705 58 aToddolT eotPoX

Ly 1s perpendicular to L,
o L1 Ly e 20507085 8¢ LololT &ofTow

L, and L, intersect at an angle 30°

, L1 Laew T8 2065 30° Sere DSEOLD PoctothSIotTon
3.

L, and L, intersect at (1,7)
Li. Ly en (1,7) Dot o 08P AAEE) Yot otLIETAD
%

Question Number : 56 Question Id : 544734696 Display Question Number : Yes Is Question
Mandatory : No

Which circle among the following bisects the circumference of the circle x + y* — 8x —
by +23 =07

306 TEH5° D B XXty -8x—6y+23=0 2)B: s, mg.)»%"uam
RDTTTOOT DZEaob?
Options :
1 x2+yr?—6x—4y+9=0
AP EAPCET 2021
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, x X +y +bx+4y—9=0

3 XAy —6x+4y—-9=0

4 % x> +y*+6x—4y+9=0

Question Number : 57 Question Id : 544734697 Display Question Number : Yes Is Question
Mandatory : No

If the line 2bx + 3¢y + 4d = 0 passes through the points of intersection of y* = 4ax and
x% = day, then

v2 = 4ax 280w 1% = 4ay 570 Potid Dodaw Mok 2bx + 3cy + 4d = 0 H6¥E
T8, o

Options :

| o @+ @2b+3c)*=0

, x @2+ @b+20)2=0

- d2+2b—-3c)2=0

4% 2+ Bb—2c)°=0

Question Number : 58 Question Id : 544734698 Display Question Number : Yes Is Question
Mandatory : No
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The point (1, 3) with respect to the ellipse 4x* + 9y — 16x — 54y + 61 = 0 lies
4x* +9y° — 16x — 54y + 61 = 0 g cﬁagﬂé (1,3) Doty

Options :

outside the ellipse
28 eIy Do)

on the ellipse
BEByD3500 & DoBID)

on the minor axis
BGDBY TF(EDWP S0t

on the major axis

) v BGHBY BT LH0D oI

Question Number : 59 Question Id : 544734699 Display Question Number : Yes Is Question
Mandatory : No

If the transverse and conjugate axes of hyperbola are equal. then its eccentricity is

BBDT VIS @dﬁé ©9£:300, R0V S0 DAV &8),089

Options :

% V3
2. v V2

o
3.x V2
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Question Number : 60 Question Id : 544734700 Display Question Number : Yes Is Question
Mandatory : No

The incenter of the triangle formed by the points (0,0,0). (3,0,0). (0,4,0) is
(0,0,0). (3,0,0). (0,4,0) Docoipod D6\E Grbain cg), GodtSogan

Options :

5« (1,0,1)

Question Number : 61 Question Id : 544734701 Display Question Number : Yes Is Question
Mandatory : No

If the line joining the points A( 7 ,p,2 ) and B( q,—2,5 ) is parallel to the line joining the
points C(2,-3,5) and D(—6,—15,11). then the value of p? +q° =

A(7,p,2) 208080 B(q,-2,5) Docodywdd ¢85 56¢ 89 C(2,-3,5) 20dakw
D(=6,-15,11 ) Dothodyosy &d3 1% Bares Dareddor &ofl p? + g2 =

Options :
1.v 4D
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5 % 16

Question Number : 62 Question Id : 544734702 Display Question Number : Yes Is Question
Mandatory : No

The angle between the planes 2x — v+ z=6andx + y+ 2z =3 1s
2¢—y +2 =6 208080 X +y + 2z = 3 Sere Socs Eradw

Options :

Question Number : 63 Question Id : 544734703 Display Question Number : Yes Is Question
Mandatory : No
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g 1 —cos2(x—1
The limit lim v ( )
x—=1 x—1

/-
, 1—cos2(x—1
lim ¥ ( )
X = _'|_ & 1

92 8906

Options :
exists and 15 equal to v 2

;3?5;5%@:11: 2080300 V2 & HaAr 3D
1. %

exists and is equal to —/2

aéafgaan 208080 —2 & HATHID
2. ®

does not exist

b?ggﬁfaej;fm i=al )
3. 9 @

exists and is equal to (1/2)

| SORO30 20000 (1/2) § pIrdIW
4,

Question Number : 64 Question Id : 544734704 Display Question Number : Yes Is Question
Mandatory : No

If f(x). defined as given below. is continuous on R. then the value of a + b =
R&D ) ¥ Qv Bl Sots Ao f (1) D0 AN\ S a+b =

sinx , x=0
¥*t+a, 0<x<l1

= bx+3, 1<x<3
—3 X >3

Options :

1.% 0

AP EAPCET 2021
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0. % 2

3. 2

Question Number : 65 Question Id : 544734705 Display Question Number : Yes Is Question
Mandatory : No

If y=Tan?! (

,then — =
dx

acosx — b sin k) dy

bcosx + asinx

_,[acosx —Dbsinx dy
y = Tan ‘ £90008 , =
becosx + asinx dx

Options :

1. % 0

{1
2.% b

3. v 1

Question Number : 66 Question Id : 544734706 Display Question Number : Yes Is Question
Mandatory : No
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1 dy
If 8f(x) +6f (;) = x+5 and y = ¥*f(x), then E at x = —1 equals

i dy
8f(x) + 6f (—) = x 45 20803 y = ¥f(x) o3, x = ~1 3¢ di fewd

X X
Options:

1.330

1
, % 14

Question Number : 67 Question Id : 544734707 Display Question Number : Yes Is Question
Mandatory : No

1/4

1% 1 dy 1
If v=1log — —Tan *(x),then — at x = — equals
1—x 2 dx NG
1/4
1+x 1 5 1 dy
y = log = —ETan (x) 008 ,x = *\f_E 56 = QeI
Options :
—4
1. % 3
4
2 % 3
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Question Number : 68 Question Id : 544734708 Display Question Number : Yes Is Question
Mandatory : No

If f(x) =sinx-sin2x-sin3xand f"(x) = a(sinbx) + c(sindx) + e(sin kx). then the
value of (a4 c+e) — (b +d + k) equals

f(x) = sinx - sin 2x - sin 3x 0803w " (x) = alsinbx) + c(sindx) + e(sin kx) 003,
(atc+e)—(b+d+k)Ddend

Options :
8

2. v 8

. 16

. 12

Question Number : 69 Question Id : 544734709 Display Question Number : Yes Is Question
Mandatory : No

X
x> ¥1

The slope of the normal to the curve y = at x = —41s

x=—436 y=
&) ]

= DS A0S, e9Z)RI080) cI0S), T
X1 1
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Options :
—289

1' 23 15
—¥h

2 # 16
289

3 15
15

4 % 16

Question Number : 70 Question Id : 544734710 Display Question Number : Yes Is Question
Mandatory : No

l
The time period ‘T" of a simple pendulum of length *[" s given by T = 21 J: where ‘g’
g

denotes the acceleration due to gravity. If the length of the pendulum 1s increased by 1 %. then
the approximate change in its time period 1s

Zrad AGTEdn ‘g, S'uso Ted I 20an Eurddd swo T' o EVAIRNLUARIVAY

l "
il \E PRI, & Sogo avg) Te)ay 1% Do, o EvTrdgs sood”
24y &aganof‘.;z_')m
Options :

, o 05%

L % 2%
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Question Number : 71 Question Id : 544734711 Display Question Number : Yes Is Question
Mandatory : No

The absolute minimum value of x* — x2 — 2x + 5 s

x*—x%2—2x+5 G DB SR Dewd

Options :
1% =5
2. =3
3. % =7

Does not exist

aﬁé;ﬁiaej:m =l
4. % .

Question Number : 72 Question Id : 544734712 Display Question Number : Yes Is Question
Mandatory : No

If the tangent to the curve 2y® = ax? + x® at the point (a, a) cuts off intercepts @ and f on

the co-ordinate axes, where a® + % = 61 . then the value of |a] is

(a,2) Docko) 36 2y° = ax® + 1% 03 350 aWE), 26139 IrITTUR a. f
@036V BAT. a” + % = 61 & Smhsd. |a] densd

Options :

AP EAPCET 2021
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. 20

. 25

Question Number : 73 Question Id : 544734713 Display Question Number : Yes Is Question
Mandatory : No

The sum of the lengths of the subtangent and the subnormal drawn at 8 = % on the cycloid
x=a(f —sinf):y=a(l—cosf)is

x=a(f —sinh): y = a(1 - cosh) o& 2rdosed 58 § = % 256 (a3 &> 20y0y50
208050 60 DVELTRY TEHL S

Options:

1w 2a

2. ® (21"'"’@‘7

12
=

-
]

e

Question Number : 74 Question Id : 544734714 Display Question Number : Yes Is Question
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Mandatory : No

& b
J {—-i———l—x“ + b* -i-{lb} dx =
a X
Options :

JL'E b xa+1 bx

1 % 2n+x2+a+1 +Iogb .

2 at+l bx

X X
—+ blog |x| + * + abx +
2a og || a+1 logh e

1
?-I- blog|x| + ax® 1+ b*logh + ab + ¢
3. %

2 Ia-i—l bx

X
—+ blog |x bx
2ﬂ—|— Dglx|+a+1+lﬂga+a x + ¢

4. %

Question Number : 75 Question Id : 544734715 Display Question Number : Yes Is Question

Mandatory : No
f (x+D(x+2)* (x+3)dx =

Options :

(x+1* (x+2)?% (x+3)°
z T 5 Vv 3

(x+2) (x+2)°
2v 7 2
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(x +2)7 (x + 2)°
7z B e

-+ €

(x + 3)7 B (x 4+ 3)°
7 5

C

Question Number : 76 Question Id : 544734716 Display Question Number : Yes Is Question
Mandatory : No

—_—

"'-.'.-" 1— ."{'4 . f—4 n n
If J —F dx = f(x) {\, 1—x } +c,then (f(x)) =

4

[Fo dr= o (YT} + e wavs, (F0)" =

X

Options:

Question Number : 77 Question Id : 544734717 Display Question Number : Yes Is Question
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Mandatory : No

‘fJ = st “11 g(x) ] + ¢, then g(x) equal
=——>1\1an X C,en X ) equais
cos* x + sint x J2 g g\ q 1
( = ~Tan'[g(0)] + 8,900) = __
=—Tan % c o, g(x) =
) costx +sintx 2 g(x) gl

Options :

tanx —cotx

1.4 V2

tanx + cotx

2. % vz

sinx —cosx

3. % vz

sinx + cosx

NF

Question Number : 78 Question Id : 544734718 Display Question Number : Yes Is Question
Mandatory : No

1 1 1 1
IfJf(x) dx = l,fx fx)dx=a .,szf(:x) dx = a* then ’ (x—a)’f(x)dx=__
0 0 0 0
: : . :
J fx)dx = I,J xf(x)dx=a, ’ 22 f(x) dx = a? @w@,f(x —)*f(x)dx=__
0 0 0 0
Options :
x @
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5 M;:'{r.z-i-l
i |

3_%5

4.«'--—"[]I

Question Number : 79 Question Id : 544734719 Display Question Number : Yes Is Question
Mandatory : No

1

|
[— L b=
X

-1
Options :
1

1. %

2. % —1

Question Number : 80 Question Id : 544734720 Display Question Number : Yes Is Question
Mandatory : No
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dx dx

; : . dy . d .
The order and degree of the differential equation \/: 4 7y = 0are respectively

d d
d—"""' —4d—y ~7x = 0 &R 03%ud 2Dogdnn GE) HOSCHD, 8648 SdbT
X X
Options:
: |
1 & —
3
1. % =
VA |
2_ 2
3 ® 1 & 1
4 T & 2
Physics
Section Id : 54473414
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 544734721 Display Question Number : Yes Is Question
Mandatory : No
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Unification of weak and electromagnetic interactions was done by

D0, Smééam&bo@ w$5a5 W[ DELOm B TH

Options:

Einstein

2DIDD

Raman
0 e )

Salam

3 rET 0

Hubble
STPBID ai’j

Question Number : 82 Question Id : 544734722 Display Question Number : Yes Is Question
Mandatory : No

In an experiment, four quantities a, b, ¢, d are measured with percentage errors 2 %. 1%. 3 % and
2p2

5 % respectively. Quantity P 1s measured as P = oy Find the percentage error in measuring P.
C

w8 HATAAS’, oo FAgoHe a, b, ¢ 2080k d © BiaFEre S8 2%, 1%, 3%

2p2

b
208050 5% . P TA5T°3 dewd P = a_d . P ag), Shrdin ded

C

Options :
1 % 10%

15 %

2. &
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12 %

Question Number : 83 Question Id : 544734723 Display Question Number : Yes Is Question

Mandatory : No
The velocity of a particle is given by v = 2¢% — 8¢ + 15 m.s ™~ Find its instantancous acceleration

att =hs.

28 $tio 0208 Sfo v = 262 — 8t + 15 m.s7L eoond 5 &S o) ag), B8 S(6e30 dod?

Options :

- -
| % 18 m.s

5 % 20 m.s2

3 % D m.s™?

-2
4 12 m.s

Question Number : 84 Question Id : 544734724 Display Question Number : Yes Is Question
Mandatory : No

When a particle moved from pont A(2, 2, 3) to pont B(6,6,9). its displacement vector is

28 &m0 A(2,2,3) Dodad) Ao B(6,6,9) DotdPHto 6693 o axogy, g%ggoé VA2 oJodd?

Options :
1_¢4i+4j + 6k

AP EAPCET 2021
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Question Number : 85 Question Id : 544734725 Display Question Number : Yes Is Question
Mandatory : No

A car 1s moving with a speed of 30 m.s™" on a circular path of radins 500 m. If its speed is

increasing at the rate of 2 m.s™2. then find its acceleration?

500 m m&b‘go DA% a8 T8 Srdod” 2.8 S0 3057 HAE” SrOBIE. T
o), B¢ 2 M. 572 SR DADS GolS, T Vg, IBE0 dodh?

Options :

_— 20 m.s?

5 % 18 a2

3 % 9.8 m.s 2

4. 2.7 m. s *

Question Number : 86 Question Id : 544734726 Display Question Number : Yes Is Question

Mandatory : No
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A block of mass 90 kg 1s suspended by three strings A, B and C as ?’ N
shown in figure. Tensions in the strings A, B and C respectively are ? 37
 (g=10m.s2,sin37° = 0.6,c0s37° = 0.8) é? y B

/ C
90 kg S3T3 (R 28 B3] HOBE” BraeD e o B "é o
Qerdobucad. A, B udaw € ésv S 4 .

(g=10m.s72,5in37° = 0.6, c0s 37° = 0.8)
Options :

_— 400 N, 500 N & 300N

5 % 500N, 300N & 900N

3 % 300N, 600N & 900N

4 1200 N, 1500 N & 900N

Question Number : 87 Question Id : 544734727 Display Question Number : Yes Is Question
Mandatory : No

A wheel having moment of inertia 40 kg.m? about its axis. rotates at 50 rpm. The angular

retardation required to stop this wheel 1 90 seconds 15 rad.s™

©50 DO 2ddq Pgo 40 kg.m® $DAD 28 tgo 50 rpm Hfod Fiveren BaLID) B.
& Ug) 90 25Y" oy ?3@&3‘3% GROED TIES R SV awes Bt

Options :
T
1 % 45
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Question Number : 88 Question Id : 544734728 Display Question Number : Yes Is Question
Mandatory : No

A small body shdes down a smooth uneven surface from

a height H. which eventually emerges into a circular loop |
of radius R(< H). What should be the valve of H sothat  J

Y

the force on the body at A is V2 times ifs weight?

8 D) 50 A00) D BT VA S8 H I Aot 22ABoR) 6. DB Hivae’
SRR R SR80 68) 3,556 ard 6 du0atds (R <H). 4 3¢ S s

LR TR TS V2 B Gotrold H i), Jensd?

Options :
3R
H=—
1.¢ .
5 % H =5R
5R
H =
3 ® 2
4 % H =3R
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Question Number : 89 Question Id : 544734729 Display Question Number : Yes Is Question
Mandatory : No

Three point-masses my. m, and mj are located at the vertices of an equilateral triangle. having
each side of length ‘L’. The moment of inertia of the system about an axis along an altitude of the

triangle passing through m, is given by

28 Zouan T ‘L 6DAG, 28 pverir Ganadw aos), %g"v DG P Dot
Qaémmm my. m, 00050 Mmaen §0J). my; Mot TAr SzZbaAw Qs &) 8 B
DO SR A, BES] WSA0 odd?

Options :
1 % Ii= ('ﬂ'!l ‘[_mg +m3)L2
12
I=(my+my)—
2. 2
- I =(my+mj3) L2
LZ
I=(my;+my)—
4.9 =

Question Number : 90 Question Id : 544734730 Display Question Number : Yes Is Question
Mandatory : No
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A rod AB of length 1 m 1s placed at the edge of a smooth table as shown.

B
It 1s hut horizontally at pont B, If the displacement of center of mass in
15 is 5v/2 m. the angular velocity of the rod is
(Take g = 10 m.s72)

A

i

1m TEQ 08 66 AB 2,03 00 Soidd HuAS Brdd
Do ) 8. Dotod) ‘B’ 56 08 $a paredssurT SLRGSB.

8 DGR T G303 Sl ot 5v2 m eowd §6 dwg)
Edap Staw (g=10m.s72)

Options :

. —1
| 30 rad.s

: =
5 % 20 rad.s

3 % 10 rad.s™ !

4 % O rad.s™!

Question Number : 91 Question Id : 544734731 Display Question Number : Yes Is Question

Mandatory : No
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Three rods each of mass 1 kg and length 2 m are jomned together

A
end-to-end to form an equilateral triangle ABC. Find the moment
of mertia of this system about an axis passing through its centre of
mass and perpendicular to the plane of the triangle.
2898 1kg G3{0°2 Sodatn 2 m TS 8DA Surcd Séw 0
02008 i D0 28 D30T Gebaam doydow (¥ < B

SDEmAN. VNS, T AIE), §I(03 S Mok Jar
S22 BerdS VoA Goll 950 DS & SR a8
2CESQ GRS odd?

Options :

1 % 4 kg.m?*

2
5 & 2 kg.m

3 % 3 kg.m?

4% 6 kg.m?

Question Number : 92 Question Id : 544734732 Display Question Number : Yes Is Question
Mandatory : No

What is the number of degrees of freedom for an oscillating simple pendulum?
Eogren 32 vdnS vgsn G3E); A Hed Hbabdow Doy Dodh?

Options :
One

| % 2,583

2. ¥
AP EAPCET 2021
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Two
Coltsd

Three
ST LD

More than three

4 % SATED S'T,l é}s%;ﬁ

Question Number : 93 Question Id : 544734733 Display Question Number : Yes Is Question
Mandatory : No

The amplitude of a damped oscillator is known to decrease to 0.9 times its original magnitude in 5
seconds. Approximately. by how many times its original magnitude will its amplitude decrease

after another 20 seconds?

PR wamg Eogan axg) SondNBad 55 b}gé@ﬁﬁ R &9 o0 H80A Aol &9
0% D83 0.9 B SARE. 00, 20 R8008" b 89 Judd o) 080 Sodood?

Options:
1 % 0.73

, % 0.9

5 v 059

4w 0.26

Question Number : 94 Question Id : 544734734 Display Question Number : Yes Is Question

Mandatory : No
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Find the gravitational force between two stones. each of mass 2 kg and separated by a distance
1m in vacuum.

w858 2kg gdo3 $9A% Boc> T S6( drddw 1m (waﬁhmﬁ‘) oowd T8 26y
DDA MHOTSES LA __

Options :

6.675 X 107° N
2. %

L« 6.675 X 1071 N

-10
4 2.67 X 10 N

Question Number : 95 Question Id : 544734735 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Angular speed. linear speed as Kinetic energy change with time but angular
momentum remains constant for a planet orbiting the sun.

Reason (R): Angular momentum 1s constant as no torque acts on the planet,

DRBw (4) : ARG SEE° SR Bipo aR0g), EBanac, oD ¢ Bak
(102 3§ ToANS Ardoraw, 5 SHo @AM Ardiw AN Skt
6 (R) : (P07 erf), HIScR0 Erat G350 00T otk

Options :

Both A and R are true and R 1s a correct explanation for A

1 ¢ A 208030 R Godir 28 @0082. R, A £ 2000005 D569

Both A and R are true but R 1s not a correct explanation for A
, % A 2080dn R Godir 20 @00d0. R, A £ 289000 o660 5°¢d
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A 1s true. R 1s false
A DD 20008, R 20 0008 5°c

A 1s false. R is false
A 208030 R Godr 28 90050 575

Question Number : 96 Question Id : 544734736 Display Question Number : Yes Is Question
Mandatory : No

One end of a wire of 8 mm radius and 100 cm length 1s fixed and the other end 1s twisted

through an angle of 45°. The angle of shear 1s

100 em e, 8 mm 60 $DAD 2.8 &7 0308 28 D56 hossed, B0l DIG& 45°
Sndwd” wGY)L 2008, wod Jarwd S Jod?

Options:

, » 0.36°

, % 012°

5 % 3.6°

1 2%

Question Number : 97 Question Id : 544734737 Display Question Number : Yes Is Question
Mandatory : No

Which of the following works on Pascal’s law?
& 206 TIS° DB IS DoHBBAV DY VDY B?
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Options :

Aneroid barometer
@;}“g eI G0

Hydraulic lift
98 85

Spraver
Aod

Venturimeter
Dotind Derb

Question Number : 98 Question Id : 544734738 Display Question Number : Yes Is Question
Mandatory : No

Bernoulli's theorem 1s based on the conservation of
86) 9 rrossn O ey JoLIVD SEEHE Gotnod?

Options :

Mass
Q:J5U“%

Momentum
a5 Falgtubl!

Energy

3.0 %2
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all of the above

DD
4, % = ;h‘

Question Number : 99 Question Id : 544734739 Display Question Number : Yes Is Question
Mandatory : No

A bimetallic strip 1s made of alummium and steel (g > @e) - On heating. the strip will

B 999 werEbdato 2080k &S BTG (g > tygee). 3¢ DAY 28

Options :
remain straight
B TS G0t

get twisted
209BARD

bend with aluminium on concave side
e&wsﬁ}a:}cmm DD DTS BT Do

bend with steel on concave side

4 S0, PN DTS GO Do

Question Number : 100 Question Id : 544734740 Display Question Number : Yes Is Question
Mandatory : No

5 g of steam at 100 °C 1s mixed with 5 g of ice at 0 °C. What is the final temperature of the mixture?

100°C 365 5 g 96 628 0°C 56 5 g Sootd’ 6D &8 Qgenin o), 06 6T Jod?

Options :
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» 100°C

95 ¢

5 % 90°C

. 80°C

Question Number : 101 Question Id : 544734741 Display Question Number : Yes Is Question

Mandatory : No

Specific heat of a gas undergoing adiabatic change 1s

%&‘%5 D760 efa’%cii_vé T30 BE), Kl%‘gﬁ‘g;ﬁm

Options :
Zero
éav:\‘)émo

Infinite
DISTetaPu bS]

Positive
::;uz"e:‘s-és;ﬁn

Negative
mw@é;m:

Question Number : 102 Question Id : 544734742 Display Question Number : Yes Is Question
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Mandatory : No

Three Carnot engines operate in series between a heat source at temperature T
1
T, and heat sink at a temperature T, . There are two other reservoirs at
temperatures T, and T;. The three engines are equally efficient if O T

(gventhatT; > T, > T3 > Ty) ¥
2

Sared ?ﬁloi)ogw SHERY r:—.gr_ié I &odaiw &2 oS egfgjej T, v O T
206§ 303" DABROT) . ©8) 6 TS Botd es3airen T, odain T T
G0 96 &) D. &8 AP 0T RATS P D) $DhaknD) B O
) o 3 s Ug
{Tl > Tz > Tg = T4 '3;3553&0&)

Options :

1. % T, =(Ty T4)1"2 & T3 = (T12 i T4)1;3

2 % I = (Tlg 'Tat}i’% & Iy = (Tl | Tf)l"%

o T, = (le 'Tat}ﬂs & T3 = (Tl ) T42)U3

4 % T, = (T Tf)lﬁ & T3 = (le ] Tfﬂlﬁ

Question Number : 103 Question Id : 544734743 Display Question Number : Yes Is Question
Mandatory : No
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Two containers A and B contam equal volumes of an identical gas at the same pressure and
temperature, The gas n contamer A 1s compressed to half its original volume isothermally, while

the gas in container B 1s compressed to half its original volume adiabatically, The ratio of the final

pressure of gas in contamer B to that of gas in container 4 is

%8 fmﬁom, 2N0:2T 630 206030 &géfjé L%R)l ol-Tb) Fads RAFRANN TNV Tt
gen A 306000 B &0 $8A0s0) . 4 T’ 69) T v aer pdone’ o
% IBIFTED) TS Sfed, B T G TOMPHD %66?.‘6&5 2805H8" &R Dz
209DBATE08" TS @Qom"m. B &d0in 4 v r.%r‘\‘)l @J&lfjda"v I)T’qbe;? oodd?

Options :

v @7

Question Number : 104 Question Id : 544734744 Display Question Number : Yes Is Question
Mandatory : No

The respective speeds of the five molecules are 1,2,3,4 and 5 km. s~ 1. Then the ratio of their

RMS velocity and the average velocity will be

5 600 S0 SWNT 1,2,3,4 8ot 5 km.s ™! T8 RMS (38 S50 Sgure)
DTS, WE TS 20 o AN

Options :
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, x 3:V11
3 % 1:2
g% 334

Question Number : 105 Question Id : 544734745 Display Question Number : Yes Is Question
Mandatory : No

A string 1s divided info three segments. so that the segment possesses fundamental frequencies

m the ratio 1: 2: 3. Then. the length of the segments are i the ratio

TGS iﬁ“éz;’g_)a"lgm 1:2:3 .3):13@956 G0t 28 AR PE) DEFTTLIT JZLtre.
@ TR ThHo And

Options:
1. & 632

> % 4-3:2

3 % 4:2:1

4 % 3:2:1

Question Number : 106 Question Id : 544734746 Display Question Number : Yes Is Question
Mandatory : No
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A well-cut diamond appears bright because
e RSO H2A DTFHBHVMT SJDELIIL) S EEaHW

Options:

it emits light
298 S0 &IBothdad

it 1s radioactive
©® SLOITE0,8 SWY

of its total internal reflection

|, PoRTTea0 Domdgde

it has high density
98 e9BE Froded DRIV

Question Number : 107 Question Id : 544734747 Display Question Number : Yes Is Question
Mandatory : No

Two opposite charges each of magnitude 500 pc are 10 cm apart. Find electric field mtensity
at a distance of 25 em from the midpoint on axial line of the dipole.

500 pc 2Bta0 (f Bocod B0 w370 10 cm GrG3008" &7 0. B eh80
aR0g), 06 Doty Aot 25 cin ErEANY” HENS £S SIS dod?

Options :

7 -1
1« 5.76 X 10" N.C

, % 928%x 10" N.CT*

3 % 131x10° N.C™*
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4 % 205X 10" N.C™*

Question Number : 108 Question Id : 544734748 Display Question Number : Yes Is Question
Mandatory : No

The minimum work needed to be done to bring a charge g = 6 uC from o to a pomt 0.75 m

from a charge @ = 30 uC 15

6 1C 557 ©R0BErGAD Aot 30 4C DTS 0.75 m Er6E'DS SR S0y
BoHIVRS DD DD

Options :
. 416171

1. %
, % 5167

3 v 2167

4 % L1617

Question Number : 109 Question Id : 544734749 Display Question Number : Yes Is Question
Mandatory : No
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The equivalent capacitance between A and B in the given circuit 1s

DH808” trad duaies” A Sbaiw B o :lm;ﬁg e‘_’&mig Q&hﬁf{j Joeh?

e 1 e o ) oty W
I |
I |

Options :
1 % 3uF

5 1uF

3.x 2HF

4 % L5pF

Question Number : 110 Question Id : 544734750 Display Question Number : Yes Is Question
Mandatory : No

Find the resistance of a cube of edge 60 cm. made of a material of specific resistance 60 X 1078 Q.m.
8 g D e 60 x 107 Q.m. 60 cm 202300 $9A 2w gy, Asaw

Options :
1 % 25x107°Q

, % 1078 Q

3¢ 1076 Q
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4% 3X1074Q

Question Number : 111 Question Id : 544734751 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer of resistance 40 () gives a deflection of 10 divisions per m A. There are 50
divisions on the scale. Maximum current that can pass through it when a shunt resistance of 2 Q)
1s connected 1s

40 0 A0 sDAN musmbmda 29 m A £ 10 Derrren B30 BRI a0, WP
50 Derrren S0, 2085 D 2 () Voo BOIYED - bt P3Pl (8 Doy
2TaPa dodh?

Options :
1. 105 m. A

, % 195 m. A
210 m. A

3. %

4 % 75m. A

Question Number : 112 Question Id : 544734752 Display Question Number : Yes Is Question
Mandatory : No
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The magnetic field due fo current carrying a circular loop of radms 5 ¢m at a point on the axis

at a distance of 12 em from the center 1s 250 uT. The magnetic field at the center of the loop 1s

5cm a'*,gbgms 500 DS HITROY) 28 HTTC Urd oA Aol B VLW 6
12 cm 620306 &29) Dothid) 36 LD 0d Z8 250 4T wowd & LrD Sogn 34
OOHI 08 AW

Options:

. 25294T

, o 4394 uT

5 % 1759 uT

4 % 2908 4T

Question Number : 113 Question Id : 544734753 Display Question Number : Yes Is Question
Mandatory : No

The self-inductance of a coil 1s 50 mH. When a current of 1 A passing through the coil.

reduces to zero at a steady rate in 0.1 second. then find the self-induced emf.

8 Sricholy a0 L8 50 mH. T ot B3red DS DT 0.1 2636° 14
R0l BP0 SAS, TS 208 30a%] LTS Lo

Options :

5 % 0.05V

3.33 SGV
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0.5V

Question Number : 114 Question Id : 544734754 Display Question Number : Yes Is Question
Mandatory : No

A conductor moving in the magnetic field ‘B’ the induced current 1s ‘I'. If the magnetic field 1s

doubled the induced current will

28 TIPS AT 08 EGIVG” BRVDY Py 90 PITIPAD T, aHFY0d FG0
O8loy) 0B 208 YT

Options :

Remain the same
| % 908 Gotwod

be half
. 50 9ok

be doubled
5%33::-?‘.;13 29D

be four tunes
ey 0L A

Question Number : 115 Question Id : 544734755 Display Question Number : Yes Is Question
Mandatory : No

The reactance of an inductor at 50 Hz 1s 10 Q. The reactance of it at 200 Hz 1s:
50 Hz © 96 28 050 08, H3EE 10 Q ead 200 Hz © ¢ T dvg) PTG Jos?
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Options :

% 100

5 40 €2

;% 250

4% 209

Question Number : 116 Question Id : 544734756 Display Question Number : Yes Is Question
Mandatory : No

An LC circuit contains 196 pF capacitor and a 441 uH mductor. The frequency of electromagnetic

radiation emitted by antenna coupled to the LC circuit 1s

28 LC 5005040 196 pF 3306 & 208050 441 uH f._:;d's“i}l <dh C'—.é‘l&. & S008rds
Seud0dA 48 IroT) Aok e a0l Ddasdob&boé D80e00 g, ﬁa@aﬁm

Options :
7.96 X 10° Hz

, x 541x10° Hz

5
L % 796X 10° Hz

5.41 X 10° Hz
4.

Question Number : 117 Question Id : 544734757 Display Question Number : Yes Is Question
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Mandatory : No

The voltage applied to an electron microscope to produce electrons of wavelength 0.50 A is

050 & 8doripgw SRS dos oo 630 doiwus dogd 2ET) 8% wos dabideis
S8

Options :
1.« 602V

5 % 138V

4 x 812V

Question Number : 118 Question Id : 544734758 Display Question Number : Yes Is Question
Mandatory : No

The diagram shows different transitions across

the energy levels for an electron m a certain )
y

Il
%]

atom. Among these. which transition represents 7

(V)

the emission of a photon with the most energy?

2020 08 OrPED Jos 28 (1)
T U, es(es $38 D
Ter 0 Wrio Dogio DA?

(11m)

Options:
1 % (I

> % (D

AP EAPCET 2021



AP EAPCET 2021

3 % (IV)

4w (D

Question Number : 119 Question Id : 544734759 Display Question Number : Yes Is Question
Mandatory : No

The curve between charge density (p) and distance (1) near a p-n junction is best represented by:

p-n 206} 6316 558 ok (p) wBasd ARG (r) Socs| S

Options :

-

1.¢
pl
P i
>
2. %
p A
y\
>
3. %
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pT

Question Number : 120 Question Id : 544734760 Display Question Number : Yes Is Question
Mandatory : No

If the highest modulating frequency of the wave is 5 kHz. the number of stations that can be

accommodated 1 a 150 kHz bandwidth 1s

8 Borin owE) (B2 ATERBRS TR wowd T’.Je.é g’ ) VW oy
rﬁaﬁézﬁ)‘bm?

Options :
1.% 20
5 « 15
3. % 10
4.% 5

Chemistry
Section Id : 54473415
Section Number : 3
Mandatory or Optional : Mandatory
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Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 544734761 Display Question Number : Yes Is Question
Mandatory : No

With what velocity must an electron travel so that its momentum 1s equal to that of a photon of

wavelength 663 nm ?

663 nm édoﬁnﬁ_ﬁ%m o Jerd g;iééﬁanéﬁ VAR Qoﬁé;ﬁﬁamv D&Jg’b sy 080 Jodh?

Options:
1« 1098 m/s

5 % 109.8 m/s

3 % 10.98 m/s

4 % 1098 m/s

Question Number : 122 Question Id : 544734762 Display Question Number : Yes Is Question
Mandatory : No

Which orbital among the following has zero radial nodes and 2 angular nodes?
Baes SEe Qo Bord’ Eedoh SEo R0 2 I &) eByere

Options :

13345
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s 3d
2. %

3. %

43355

Question Number : 123 Question Id : 544734763 Display Question Number : Yes Is Question
Mandatory : No

Two particles of masses m & 2m have equal Kinetic energies. The de-Broglie wavelength are
m the ratio of

m S08ak) 2m EH(TRR 1R Bodd SErY ANE), (182 3§ DATIAN Bowd, T8 ¢ 8
S0oigT® Ay

Options :

- 1:1

2. % AE&

3.% 112

4w V2i1

Question Number : 124 Question Id : 544734764 Display Question Number : Yes Is Question
Mandatory : No

; T= warm ik B : T i
Thetons §° .Cl .K'.Ca”" are 1so-electronic. Their 1onic radii show

ST 0. KT, Ca* wotrdow ‘o dwsdS T Gothd. Tt eoirds mﬁﬁ"g“w
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Options :

a decrease from S~ to €l and then increase from K to Ca®?

5% Med Cl & 3. Kt #00d Ca?t £ poohd

an increase from S°~ to €I and then decrease from K to Ca®*
S27 &30l Cl” £ 28R, K™ &0d Ca’™ & B0

S 2— .~ 24
a significant decrease from §° to Ca

) $77 &0l Ca’" £ DIVPRD BHEL EotdR
3. il

- : 2 2+
a significant increase from §° to Ca

$%7 Aol Ca®" 9 DAVPRVD DENDGY o)

Question Number : 125 Question Id : 544734765 Display Question Number : Yes Is Question
Mandatory : No

Which among the following iso-electronic species has the smallest size?
0*", F~, Ne, Na*, Mg**, AP**, si**

$08 SOV’ D& D BLY D DB (P2z) $HH God?
0%, F~, Ne, Na*, Mg**, A®*, si*t

Options :
1. % F

. NEad
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4. % Na

Question Number : 126 Question Id : 544734766 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The first ionization energy of Be is greater than that of B.

Reason (R): 2p orbital has lower energy than 2s orbital.

O30 (4): B G108, DB SrdBAS dorrdy Sl Be 610g), DE AFDBRD
o)ow@:} am&a
D550 (B): 25 60,4765 $7) 2p 07 8 860

Options :

Both A and R are true and R 1s a correct explanation for A
A 208030 R 20AD 08030 R &0 A 20T D580

Both A and R are true but R is not a correct explanation for A
A 0800 R 2TAD 08050 R &0 A 26T DD80tdS e

A 15 true. R 1s false
A 2058 R 2008 s7¢w

A 15 false. R 15 true
A 2THE 57w R 2B/IG

Question Number : 127 Question Id : 544734767 Display Question Number : Yes Is Question
Mandatory : No

Which among the following compound shows the highest lattice energy?
Socs RDLEICD *&a;ﬁay;’a**mﬁ‘ DSBS 008 oS 38 (v Do) ¥o &7
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Options :
1« LiF

> % CsF

3 % NaF

. » KF

Question Number : 128 Question Id : 544734768 Display Question Number : Yes Is Question
Mandatory : No

The hybridizations of N-orbitals in NO; . NO, and 1"\!H;r respectively are
N0, . NO, &8atio NH, o&° 058\ Er¥) DogBS a0

Options :

= 2 3
| » P, Sp°, sp

3 2
5 % sp, sp~, Sp

2 3
L x Py SP7, sp

4 % SP°, sp, sp°

Question Number : 129 Question Id : 544734769 Display Question Number : Yes Is Question
Mandatory : No
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Identify the correct sequence with respect fo the strength of hydrogen bonding among the following.

§08 dowse Avod) FPEES Loty WEH ST MBotsed?

Options :

14} HEOE = HEQ = HF = HES

2. % HEO = HF = HEGE = HES

3 ® HEO = HF e HES = HZGE

4 ® Hzo e HF - HEOZ == HES

Question Number : 130 Question Id : 544734770 Display Question Number : Yes Is Question
Mandatory : No
A person living in Shimla observed that cooking food without using pressure cooker takes

more time. The reason is that at high altitude

3&&?;"&36 ﬁbh@é; 25 bﬁ 26 53565 Tl Hob) BoIVLL 5}5.‘1&)5 2620030200
B8 080) AT (AAAomred. €8 DB HEFAN 3¢ oL R TG
Options :

Temperature decreases
ﬁgﬁ@ DS O

PI‘ESSHI’E iIlCI’EHSES
DAL 8D

Pressure decreases

5
3 @ % Vinln By b B ezas:b;a
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T'Elllp erafure mcreases

4% &%ﬁ (S 8D

Question Number : 131 Question Id : 544734771 Display Question Number : Yes Is Question
Mandatory : No

For formation of 3.40 g of ammonia gas. what volumes of hydrogen gas and nitrogen gas.

respectively. are required at NTP conditions?

PERS B0 RS k0N ¢ 6] 200. 340 g © AT IO TAVH
:}dbd.)tﬁ)é.}ﬁl NTP &f}cg. AU ;g’@fab 0bain Qﬁé 2L AVBATETLY DR

Options:

1 % 224L & 2.24L

5 % 224L & 1.24L

3 6.72L & 2.24L

4 % 672L & 1121

Question Number : 132 Question Id : 544734772 Display Question Number : Yes Is Question
Mandatory : No

If one atom of an element X weighs 6.643 x 1072 g. Then find the number of moles of atoms

i 50 kg of element X.

X 03 dorege a0g), 28 DOATMY) P00 6.643 X 107 g. 50 kg v X &fo arde
"&ca.‘)lgm ﬁé&ocﬁod?
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Options :

500 moles
1 % 500 2rden

125 moles

5 % 125 2reden

1250 moles
3 ¢ 1250 25den

50 moles

4 % 50 e

Question Number : 133 Question Id : 544734773 Display Question Number : Yes Is Question
Mandatory : No

Out of molar entropy (I), specific volume (II), heat capacity (III). volume (IV), extensive

properties are

arers QoD (1), DB oddarma (), adwen (1), w300arnsn (IV) of" A

c_ﬁmém
Options :

1% L. I

2 % [.II.IV

5 % II.II

4o I IV
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Question Number : 134 Question Id : 544734774 Display Question Number : Yes Is Question
Mandatory : No

When reaction 1s carried out at standard states then at the equilibrium

DA78 DBV 2,8 WE[RY BBHIY D ‘.-’a;ﬁm“?g@ 56

Options :
|« AH® =0
> % Xg¥=ig

equilibrium Const K = 0
*.-’a;.‘uu“ig@ ?gﬂ“nsm K=

equilibrium Const K = 1
ﬁ;ﬁ:@“iﬁg@ DOToSw K =1

Question Number : 135 Question Id : 544734775 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct expression for the equilibrium constant of the following reaction:
2Xg)t Yg) =3 29)

2X(g)+ Yig) = 3Z5) o3 S6{ "famu"?ge‘.’é i'{_gu"os:.m I oI

Options :

_ X127 [v]
T IZP
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Question Number : 136 Question Id : 544734776 Display Question Number : Yes Is Question
Mandatory : No

Which of the following gas the highest pH at 25 °C ?

808 57DS" B8 25 °C 56 wBIBS pH Desd eocmo?

Options :
distilled H,0
(AR 200

1M aq NH,
1M 20 NH;

1M NaOH

. 1M HCl

Question Number : 137 Question Id : 544734777 Display Question Number : Yes Is Question
Mandatory : No
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Which gas among the following has the maximum global warming potential?
BHLS &d) ToHUS” BS(BE “Hed T8 of TOJoDS” (v TraY B?
Options :

| % cO,

2. v e

Question Number : 138 Question Id : 544734778 Display Question Number : Yes Is Question
Mandatory : No

Alkali metals are powerful reducing agents because
6 S50 OD L0866 SEETLD JotDVDIT

Options :

They are metals

e9d) €9 o &5 2%e

They are monovalent
99 ©9) a3 DENCITRSSH S0

Their ionic radii are large

o) e90ir DS 353“::“9_1:: e
3. k=3 o o

4.v
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Their ionization energies are low
T80 H0DHISC & BL) D

Question Number : 139 Question Id : 544734779 Display Question Number : Yes Is Question
Mandatory : No

Consider the reaction BCl; + NH; —— BCl; - NH; . the geometries of BCl; and BCl; - NH,

respectively are

BCly + NH; — BCly - NH; 93 Wi 20d'8 B208'D, BCl; dadw BCl; - NH; ©
85300 DA™

Options:

Trigonal planar & Tetrahedral

| Pee SEt30 20B0%D W) DA

Tetrahedral & Square planar
ﬁmmééoij PoblelonbbiraPobln I alsblorel.

Tetrahedral & Trigonal bipyranudal
806 Dab Lok HE'tol BRrE(E o

Square planar & Trigonal pyramidal

P23 BBV BB0I HE D BRrETS o
4. %

Question Number : 140 Question Id : 544734780 Display Question Number : Yes Is Question
Mandatory : No
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Carbon and germanium belong to the 14" group. The maximum co-ordination number of

Carbon 15 less than germanium, because of

5“‘55)5, Eé&bo‘bo 14 5 (2D £ Bodd duresren. ?605 as), @@56‘,‘59 ARVANGW Rog,
e?ﬁé&}omo wé5ﬁ§ Hodiradoh '5303-?35 S0t B8 . DoRISVA AT

Options :

larger size of germanium
Eé&buﬁso DEATEDY DES DL DV

electronegativity difference
2062 DENTB) SSV S DV

availability of low-lyving d-orbitals in germanmm

2 Eé&.ﬂ)cmc e90eds Siﬁff d-wﬁgwma EoCat) DD

electrical conductivity
ch&.}éé TS0 HOD

Question Number : 141 Question Id : 544734781 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure of the compound responsible for Bhopal disaster:
EIS DATErdS 500D D) FHIW

Options :
1 % H:E—C=N

, o HiC—N=C=0
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Question Number : 142 Question Id : 544734782 Display Question Number : Yes Is Question
Mandatory : No

The suitable reagents for the conversion of methane to methyl iodide are

DS B RS OATEE T ATE0LD PBHE SOFW

Options :

1 % I, HNO,
5 % I, H:0,
3 L, H,O
4V I, HNO;

Question Number : 143 Question Id : 544734783 Display Question Number : Yes Is Question
Mandatory : No

In Lassaigne sodium fusion test, N and S of an organic compound are converted into

TR Jdobo (o D5’ 56\ ‘r’\a;f%#émo 'R N Sobaso S T @y Botoad

Options:
NaCN

1. % 7
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5 % Na,§

5 v NaCNs

4 % NaNs$

Question Number : 144 Question Id : 544734784 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are Correct?
(1) Inductive effect & resonance effect is possible in chlorobenzene

(1) Resonance effect dominates over inductive effect in Amsole
(111) P-nitrobenzoic acid is less acidic than m-nitrobenzoic acid

iv) Diphenylamme is more basic than aniline

306 HIITVS" HOGID?
i) 9508 DErd S06ak B89y HEradw §8 BodSS’ Fejaw
i) TS 0529 HEra%0 HOIE DAY Lol LS trYD

(
(
(1ii) -5 02008 e300, 1m-PE" Elo200S A S0t S D 5w $BA Gotiodd
(iv) G55 DD DIV Sots Iy TS S0B

v

Options :
1% (1), (ii), (iii) & (iv)

(i) & (ii) only
L, @) & (i) are®

(iii) & (iv) only

L x (D) & (i) g

4, %
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(i) & (iii) only
(1) & (iii) Fobuls Fub)

Question Number : 145 Question Id : 544734785 Display Question Number : Yes Is Question
Mandatory : No

100 ml of 0.2 M acetic acid is completely neutralized using a standard solution of NaOH. The
volume of ethane obtained at STP after complete electrolysis of the resulting solution is

100 ml © 0.2 M 85 e3rd) a7t NaOH gramed Qp0m duidee. $06
T 0 Dcﬁs}g&sém dodrr, STP B DGV eﬂcﬁaé &3 D8I

Options :
1% 11.2L
5 % 2.24L

3 v 02241

4 % 2241

Question Number : 146 Question Id : 544734786 Display Question Number : Yes Is Question
Mandatory : No

Iron exhibits BCC-structure at room temperature. Above 500 °C. 1t transforms to FCC-structure.

Find the ratio of the density of iron at room temperature to that at 500 °C. (Assume the atomic

radi and the molar mass of iron remain constant even with variation m temperature)

(16 G108 3¢ 28 &0 BCC Joerd) 9038y0800. 500 °C 2R 6 FLC oo
8raroddo BotaRd. & &Pl Fodde :Jt’q;j{ij (& &gﬁé E‘.JCC.;J 08cdw 500 °C 28
(egﬁgag Fe0 &0 DOATD B3(0°3 B0 DE3FE) ;:"53"3“9.:93" 360y G653 ardotdol.)
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Options :
1@ V32

5 x V3 V2

Question Number : 147 Question Id : 544734787 Display Question Number : Yes Is Question

Mandatory : No

What amount of conc.H,50, solution should be used to prepare 500 ml of 0.5 M H,50,? (The

concentration of H,50, solution being used is 90% and molecular mass of H,50, = 98.079 g.mol ™)

500 ml © 0.5 M H,50, Troman $aire St 3009 H,50, 620087 (H,50, rred 90%
80800 HyS0; eewge-? 98.079 g.mol )

Options :
1. ¢ 22.06 g

Question Number : 148 Question Id : 544734788 Display Question Number : Yes Is Question
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Mandatory : No

If the resistance of 0.1 M KCI solution in a conductance cell 1s 300 Q and conductivity is

0.013 S.cm™L. then the value of cell constant is

WS TS 200306 0.1 M KCl zrdedw s, :)Efc,'béejsm) 300 Q Sobodw
JFarsdcaw 0.013 5. em™L 08 ?(30“95»‘.11) Qe

Options :

1 & 3.9 em ™t

, x 39 m™

3 % 39 m

4 = 0.39 em™?

Question Number : 149 Question Id : 544734789 Display Question Number : Yes Is Question
Mandatory : No

A reaction has rate constant k = 2.4 X 10™* s, Then find the ratio of tona B L.
28 WO{E) G D008 k = 24 X 107* 57" oo t,, o 080 £ © Anyd
Options :

1.331

5w 10
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Question Number : 150 Question Id : 544734790 Display Question Number : Yes Is Question
Mandatory : No

The adsorption of a gas at the boiling point of the gas

follows the isotherm shown in the figure. Identify the “ P c
Ao 1L
correct thermodynamic properties at point C, ‘::I;I:i"
adsorbed
w8 T awE) BT 00 (R o eg‘g@ 06F 00 2063
T0i0 nbr
968) 9 DotrBed HATHE B BrANEB. C e Y P |
- > =
Do) H¢ BTN &GS (6] A 26
Options :
1.‘?‘,&.1’1’:1’"&5; AG =0

AH >=TAS ; AG

5 % +ve

5 % AH <TAS ; AG = —ve

4 % AH =TAS =AG =0

Question Number : 151 Question Id : 544734791 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is least covalent in nature?

S0 T°63e5° 9 EVRY PR DI (e ﬁ:&a&#@;ﬁn?

Options:
1 @ P'I.IFFE
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o BiF;
, PF

,  SbFs

Question Number : 152 Question Id : 544734792 Display Question Number : Yes Is Question
Mandatory : No

The geometries of XeF, and XeOF, respectively are
XeF, s0badw XeOF, © :}U"émo Felobrelan

Options:

Pyramidal and Distorted octahedral
*&nmﬂﬁs‘ﬁo S0803L DEFDHE BodD EI‘Q;‘.IJJ&E.)DZ‘LJG

Square-pyramidal and Square-pyramidal
R~ SletS) W?S?do 000520 DSBO0R wlt}s“do

Square-planar and Square-pyramidal
DH0SL BAVGRe SBCIL BALGR HBES

Square-planar and Square-planar

4 % R D60 Q0005 RoudL HBVG0

Question Number : 153 Question Id : 544734793 Display Question Number : Yes Is Question
Mandatory : No
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In the following reaction

I, + H,0 4 Cl, —— X + Y. the products X and Y respectively are

L+ H0 +Cl,—— X+ &5 568" X 2080w Y 20 S

Options :
1 % HClO, ,HI

, « 107 HCL

5 o HIO3 , HC

4 % ICl3 & HCL

Question Number : 154 Question Id : 544734794 Display Question Number : Yes Is Question
Mandatory : No

Atomic number of Cr,Fe and Co are 24, 26 and 27 respectively. Which of the following

inner orbital octahedral complexes are paramagnetic?

Cr, Fe 200800 Co & D870 ‘r'aoaJ]S?JJ S0 24,26 ,27. Sob 906 ?363&:!"95 wﬁg:ma’)
“n:uogg'vé‘ 20 Fo e.ao‘.’nb“%oa G650 (lod?

Options :
1 % [CD(NH3)6]3+

)« [co(en);IP*

4w [Fe(CN)6I*

o o ler(ene
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Question Number : 155 Question Id : 544734795 Display Question Number : Yes Is Question
Mandatory : No

Gadolinrum (atomic number 64) 1s a member of 4f sertes. Its electronic configural in +3 oxidation

state is [Xe] 4f7. What is the ground state electronic configuration of Gadolinium

e odo (DB 02 64) 4f 3539 BodD darwsaw. +3 v%DSciea iq;;e‘i%a‘i‘ & VTR
DTG [Xe] 4f 7 toomd AES Aake DO gy, a;b“g"an QTR DT[RW

Options :
10
1 % [Xe] 4
, « [Xel4f° 6s?

5« [Xel4f7 5d°

4 v [Xel 4f7 5d* 652

Question Number : 156 Question Id : 544734796 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are true about carbohydrates?

(1) Monosaccharides can be hydrolysed.

(11) The two monosaccharide units obtamed on hydrolysis of a disaccharide can either be same or different,
(111) Polysaccharides are not sweet in taste.

(1v) All monosaccharides are not reducing sugats.

58T Eo Rowolied) 3 Ao Jun?

() ardTd 20 Jin Babiiw

(1) GTE0EA 2T Y Sy APOTEHE CmALD VAT 0y O ST Goteiddy
(i) Brrepcy o8 ST sosy

(iv) ) -S4 L0Dseea 185 600 5

Options :

(i) & (ii) only
| % (i) & (ii) Srado

(ii) & (iii) only
, o () & (iii) Sogdd

(iii) & (iv) only
_— (iii) & (iv) sdorghadd

(i) & (iv) only
g e (D & (iv) 2o°gd0

Question Number : 157 Question Id : 544734797 Display Question Number : Yes Is Question
Mandatory : No
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A compound ‘A’ contains € and H only. and has molecular mass 72. Its photochlormation gives a

mixture containing only one monochloro and two dichloro hydrocarbons. Deduce the structure of *A°

C 0803w H g o A e :};':nymm aws), wm@bgm% 72. AN Tod A0S
£8349 Babr a8 ArSEY S0Bak Bocd GEE rEiTd\® D61EAD. 4 doyErd) Tkl

Options:
2, 2- dimethylpropane

L 22 GRS TJDD

n- pentane

5 x M- Dot

2- methyl butane

2- 0BES (B

Cyclopentane

Eg’ 083D

Question Number : 158 Question Id : 544734798 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction sequence is

& tﬁﬁé?ﬁs 3)-::5351.:1 DR GSR) D0

I i) Mg / Et,0
i) Co
) €O, , 9
iii) Hy0*"

iv) Br, / FeBr;

Options :
1.¢
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§ -

Br

CO,H
Br

W

2. ®
CO,H
3 % Br
CO5H
@Br
4, % e

Question Number : 159 Question Id : 544734799 Display Question Number : Yes Is Question
Mandatory : No

Lucas test 1s used for the determination of
$08 :omy;faum‘s‘ B MRS / B UPFD 08 EDATHDEIN

Options :
1. %
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Aldehydes
es8irco

= 2

Phenols
S reSen

Carboxylic acid

- sﬂcnaébﬁ)ﬁ e300

Alcohols

e_ee_:'b::ﬁée_u
4.

Question Number : 160 Question Id : 544734800 Display Question Number : Yes Is Question
Mandatory : No

What is (P) in the reaction given below

(i) CH3MgBr (i) dil. NaOH
(P) > (R) > 4-methyl pent-3-en-2-one
(i) H;0" (i) A

806 w5o(&" (P)

(i) CH3MgBr (i) dil. NaOH
(P) > (R) > 4-20065 D085-3-88D-2- 65
(ii) H30" (ii) A
Options :
Propanone
., JoSs
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Ethanamine

L ROIDD

Ethanenitrile

53D DS
3.« .

Ethanal

4. % WETO
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